I(D GH N El No.BK-P409

https:/www.koganeiusa.com

Robot Joint

EPSON Robot Compatible

O fightiweight{and ="
compact

@ Newldesigninglis _i I-

noHrequired

@lQuickiylconnectls
offactuatoers

JElatity pefaighand
J3lfingedhand
JElectriclhand
Jeomplianceliight
JAutclhandlchanger




——

sfﬁeial for 5N seriesHof

actuatorsitolEpsoniSCARArobotsfandiverticallarticulatedirobots®

NMan-hoursicanibelgreatlyireducedifromiequipmentisetupibyimountingfrobot
jointsito]Epsonirobots:

Aluminumlisiuseditolreduceiweightfandisupportithelstrengthiofithelcompact;
lightzweight? slim Epson:

@!SCARA robotifrom|Epsen @\Verticallarticulatedirobotiftom|Epson

Compatible robots

G1
GX4
GX8
G10
G20
LS3
LS6
LS10

LS20

T3

T6
RS3
RS4

Compatible robots

C4
C8
C12
N2
N6

@ Electric hand mounting
example

@ Flat type air hand mounting
example

@ 3 finger hand mounting
example

Compliance light

1) KOGANEI



Order codes

@Robot joint models (for SCARA robots)
KRJ S -EPS -[ |- []

J

Series models
Robot Joint

Robot type
S: SCARA

Robot manufacturer
EPS: EPSON

Shaft diameter
8: $8[0.315]
16: 16 [0.630]
20: 20 [0.787]
25: $25[0.984]

End effector models

Note

See below for end effector models.
End effectors are sold separately.
Please purchase separately.

Note: See page ® for combinations of shaft
diameters and end effector models.

@ Compatibility table for shaft diameters and Epson SCARA robot series

Shaft diameter (mm [in.]) [ Compatible robots
8 [0.315] G1
GX4
LS3
16 [0.630] RS3
RS4
T3
GX8
20 [0.787] LS6
T6
G10
25 [0.984] G20
LS10
LS20
@End effector models
Flat type air hand 3 finger hand Electric hand Compliance light Auto hand changer
m =
e : ;#"-“’:/
ey R
AFDPG6 NHE1D16 EWHAG6H EW2H8 CPL34F
AFDPG8 NHE1D20 EWHA12H EW2H18 CPL54F
AFDPG12 NHE1D25 EWHA24H EW2H28 CPL70F
AFDPG14 EWHA36H EW2HLS8 CPL90OF
AFDPG18 EWHA12A EW2HL18
AFDPGL6 EWHA24A EW2HL28
AFDPGLS8 EWHA36A
AFDPGL12
AFDPGL14
AFDPGL18

Note: The above end effectors (5 series) are sold separately. Please purchase separately.

KOGRANEI 2


https://www.koganeiusa.com/product_category/gripper/afdpg-gripper/
https://www.koganeiusa.com/product_category/gripper/nhe-gripper/
https://www.koganeiusa.com/product_category/electric-gripper/
https://www.koganeiusa.com/product_category/compliance-light-/
https://www.koganeiusa.com/product_category/tool-changer/

Order codes

@ Robot joint models (for vertical articulated robots)

KRJ V -EPS-[]-[]

Series models

Robot Joint

Robot type
V: Vertical articulated

Robot manufacturer
EPS: EPSON

End effector models

Note

See below for end effector models.
End effectors are sold separately.
Please purchase separately.

Installation diameter

27: $27 [1.063]

31A: $31.5 [1.240] (centering location
diameter (¢12 [0.472])

31B: $31.5 [1.240] (centering location
diameter (¢8 [0.315])

40: $40 [1.575]

Note: See page ® for combinations of installation

diameters and end effector models.

@ Compatibility table for installation diameters and Epson vertical articulated robot series

Installation diameter (mm [in.])] Compatible robots
C8
27 [1.063] c12
31 [1.240]A C4
31[1.240]1B N2
40 [1.575 N6
[1.575] VT6L
@End effector models
Flat type air hand 3 finger hand Electric hand Compliance light Auto hand changer

AFDPG6
AFDPG8
AFDPG12
AFDPG14
AFDPGL6
AFDPGLS8

AFDPGL12
AFDPGL14

-

NHE1D16 EWHAGH EW2H8 CPL34F
NHE1D20 EWHA12H EW2H18 CPL54F
NHE1D25 EWHA24H EW2H28 CPL70F

EWHA36H EW2HL8

EWHA12A EW2HL18

EWHA24A EW2HL28

EWHAS36A

Note: The above end effectors (5 series) are sold separately. Please purchase separately.

3 KOGANEI



https://www.koganeiusa.com/product_category/gripper/afdpg-gripper/
https://www.koganeiusa.com/product_category/gripper/nhe-gripper/
https://www.koganeiusa.com/product_category/electric-gripper/
https://www.koganeiusa.com/product_category/compliance-light-/
https://www.koganeiusa.com/product_category/tool-changer/

KOGRANEI 3



Order codes

Combination of shaft diameter and end effector model ‘ SCARA robots ‘
@ Air hand (flat type air hand and 3 finger hand) combinations
Shaft diameter Flat type air hand 3 finger hand
AFDPG6 | AFDPG8 | AFDPG12 | AFDPG14 | AFDPG18 | AFDPGL6 | AFDPGL8 | AFDPGL12 | AFDPGL14 | AFDPGL18 | NHE1D16 | NHE1D20 | NHE1D25
8 [0.315] O O - - - O O - - - - - -
16006301 | O | O | O | - -1 O0O10 1|10 - - O 160 -
2000787 - | O| O | O - - 1O 1O 10 - - O | O
25[0.984] | - - O O O - : O O O - . O
@ Compliance light combinations @ Auto hand changer combinations
Shaft diameter Compliance Light Shaft diameter Auto hand changer
CPL34F | CPL54F CPL70F CPL90F MJC3 MJC10 MJC20
8 [0.315] O - - - 8 [0.315] O - -
16 [0.630] O O - - 16 [0.630] O O =
20 [0.787] - O O - 20[0.787] - O -
25 [0.984] - - O O 25 [0.984] - O O

@Electric hand combinations

Electric hand
Shaft diameter

EWHAG6H | EWHA12H | EWHA24H | EWHA36H | EWHA12A | EWHA24A | EWHA36A| EW2H8 EW2H18 | EW2H28 | EW2HL8 | EW2HL18 | EW2HL28

8[0.315] | O - - - - - - O - - O - -
16[0.630] | O | O - -1 O]l O0O 10100 - O 10 -
200787 - | O] O] OO OO - O 10O - O 1 O
25[0984] | - | O | O] O] O] O | O] - QO | O - Q| O

() KOGANEI



Order codes
. ]

Combination of installation diameter and end effector model
@Air hand (flat type air hand and 3 finger hand) combinations

Vertical articulated robot |

Installation Flat type air hand 3 finger hand
diameter | AFDPG6 | AFDPGS | AFDPG12 | AFDPG14 | AFDPGLG | AFDPGLS | AFDPGL12 | AFDPGL14 | NHE1D16 | NHE1D20 | NHE1D25
2711063 | - |O | O | O | - | O | O | O - O 10
sin20Al O[O O - OOl O [ -1TOolO]-
31[12401B) O | O | O | - | O | O | O - O 1 O -
awpss) | - |O|lO O -lololol -1To010
@ Compliance light combinations @ Auto hand changer combinations
Installation Compliance Light Installation Auto hand changer
diameter CPL34F | CPL54F | CPL70F diameter MJC3 MJC10
27 [1.063] - O O 27 [1.063] O O
31[1.240]1A| O O = 31 [1.240]A O O
31[1.240]1B| (O O - 31[1.240]1B O O
40 [1.575] - O O 40 [1.575] O O
@Electric hand combinations
Installation Electric hand
diameter EWHAGH | EWHA12H | EWHA24H [ EWHA36H | EWHA12A | EWHA24A [EWHA36A | EW2H8 | EW2H18 | EW2H28 | EW2HL8S | EW2HL18 | EW2HL28
27 [1.063] - O O O O O O O™ | O [ O™ O O O
31[1.240]A| O O = - O O O O O = O O -
31[1.240]B| O O - - O O O e O - O O -
wonssi | - [OJoJoJololofox[o"[o=[o=[ O[O

Note: The electric hand cable direction "-2" cannot be selected.

KOGRANEI (6



Handling instructions and precautions

\ Installation procedure \

1. SCARA robot (model: KRJS-[ )

@Install the end effector and adapter plate.
If not included, the adapter plate is not required.

@Install the adapter plate (or end effector if the model does not
include an adapter plate) and robot joint.

@Insert the robot joint into the shaft, until the end.

O We recommend the following procedure if the D-cut in the
shaft is used for positioning.
The screw used in the tapped hole for positioning must be @ O Shaft clamp bolt
prepared by the customer.
[Recommended procedure when using tapped hole for
positioning] Robot Joint

D cut
Shaft

O Tapped hole for positioning

(1) Temporarily screw in the positioning screw, and then
decide the position of the robot joint.
(2) Temporarily tighten the shaft clamp bolt to secure the robot Adapter plate
joint.
(3) Remove the temporarily tightened positioning screw.
@Tighten the shaft clamp bolt.
@If the model has 2 shaft clamp bolts, alternately tighten them 3

End effector

times or more by the specified tightening torque.

Caution Bolt
If you cannot insert the shaft because the shaft hole in the
robot joint is too narrow, then put a plate (a washer or flathead
screwdriver can also be used) into the slit, then tighten a bolt (a Shaft hole
fastening screw is also possible) into the threaded hole, so the Slit Threaded hole
shaft hole widens and the shaft can be inserted. Plate
After insertion is complete, remove the bolt and plate.

2. Vertical articulated robot (model: KRJV-[ ])

@install the end effector and adapter plate. If not included, the
adapter plate is not required.

@Install the robot flange and robot joint.

®|nstall the adapter plate (or end effector if the model does not
include an adapter plate) and robot joint.

Robot flange

Robot Joint

Adapter plate

End effector

7 KOGANEI



Handling instructions and precautions

| Retaining force |

@ Robot Joint for SCARA robots

Shaft diameter

Holding force F

Holding torque T

(mm [in.]) (N [Ibf]) (N-m [in-Ibf])
8 [0.315] 400 [89.920] 1.4 [12.391]
16 [0.630] 1400 [314.7] 14 [123.9]
20 [0.787] 1500 [337.2] 15 [132.8]
25 [0.984] 1600 [359.7] 23203.6]

Note: The robot joint for vertical articulated robots has regular
bolt fasteners, so the strength is not specified.

1 Holding force F

Name of part

Material

Robot Joint Aluminum alloy (alumite treatment)
Adapter plate Aluminum alloy (alumite treatment)
Bolt Stainless steel
Parallel pin Stainless steel

| Tightening torque |

Screw size Tightening torque (N-m [in-Ibf])
M2.5 0.36 [3.186]
M3 0.63 [5.576]
M4 1.5[13.277]
M5 3 [26.553]
M6 5.2 [46.025]
Caution

If there is a risk of bolts loosening due to shocks or

vibrations, consider taking measures to prevent them from

loosening.

KOGANEI



Dimensions mmin.))

Robot type : SCARA
Shaft diameter : 8 [0.315]

. . Z
Configuration (D j Shape |
PA
$25 [0.984]
.315] F7
*Shaft clamp {ffo[fgi ﬂn o1 M3
hex socket bolt . -
M4x10 1 pc. §
(Assembled when shipped) S, Shape Il
| | ol
cand 2
i ] =2
0 \ AT &
o ¥ !
,,,,,,,,,, Ch.________1 %G: Hex socket bolt for

End effector side installing end effector

% H: Parallel pin JIS B 1354 for
positioning end effector

Configuration Shape 11l
9 ® *Hex socket bolt for P
installing adapter
e plate M3x8 4 pc.
b ey
T/ 4. i ] Adapterplate
w £ L W W 4 .
o W
AR E N 1 KParallel pin JIS B 1354 for b

End effector side positioning adapter plate
B type 2.5%5 1 pc.
45 [1.772] View from arrow Z




Dimensions mmin.))
D

Robot type : SCARA
Shaft diameter : 8 [0.315]
@ Air hand
Mass (g [0z]) Dimensions Accessories
Model Configuration | Shape G
Product 3| End effector Nete4 A B C D E F S o v— S pos—
1ze oun 1ze oun
KRJS-EPS-8-AFDPG6 | 30[1.06] | 52[183] ©) 1 [1?32] 0 fgﬂ . - - - |m2sxiz| 2 | BiRe o
40 5 32 ] 5 25 B type
KRJS-EPS-8-AFDPG8 | 70[2.47] | 86 [3.03] ® I | 1575]|0.167] | (1560] (0.167) | [0.584]| M3*6 2 > o 2
KRJS-EPS-8-AFDPGL6 | 45[159] | 60 [2.12] ® I [2_51‘;6] [0_1597] [1_?32] - - - |m2sxiz| 2 | BiRe 5
KRJS-EPS-8-AFDPGL8 | 60 [2.12] | 135 [4.76] ® I [3_@1] [0_1597] [1_220] - ; - maxia| 2 | BWPEL
@ Compliance light
Mass (g [0z]) Dimensions Accessories
Model Configuration | Shape G
Product N 3| End effector Nete4 A B (0] D E F Size o Size o
KRJS-EPS-8-CPL34F | 50[1.76] | 42[1.48] ® 1 [1_‘;§1] [0_1597] - - ; - [ maxe | 4 | BhEel
@ Auto hand changer
Mass (g [0z]) Dimensions Accessories
Model Configuration | Shape G
Product N 3| End effector Nete4 A B (0] D E F Size - Size o
KRJS-EPS-8-MJC3 35[123] | 65 [2.29] ® 1 [1_§g9] [0_1597] . - ; - | Max20| 4 B2t>)</ge 1
@Electric hand
Mass (g [0z]) Dimensions Accessories
Model Configuration | Shape G
Product N 3| End effector Nete4 A B (0] D E F Size - Size o
KRJS-EPS-8-EWHA6H | 60[2.12] | 150 [5.29] @ m [2_52%3] [0_1597] ; [1_2024] . - | m3x10| 4 B;}(’ge 2
KRJS-EPS-8-EW2H8 | 60[2.12] | 90[3.17] ® m [2_‘2883] [0_1597] ; [1_(2)2 gl - - | maxte | 4 thi’ge 2
KRJS-EPS-8-EW2HL8 | 60 [2.12] | 140 [4.94] ® m [252883] 0 1597] ; [1%‘3 neE - | M3xie | 4 thi’ge 2

Note 1: The F7 tolerance is before machining of the slit. After machining of the slit, F7 may be inaccurate.
2: In the drawings, the (%) bolts and pins are accessories.
3: The product weight includes the weight of the bolts and parallel pins that are accessories.
4: The end effectors are not included with these products. They must be ordered separately.

KOGANEI



Dimensions mmin.))

Robot type : SCARA
Shaft diameter : 16 [0.630]

z

A
Configuration ™D 2 Shape |
¢35 [1.378]
% Shaft clamp $16[0.630] F7Note 1
hex socket bolt M4
M5x12 2 pc. e
(Assembled when shipped) _
@; | —
S ‘ S w
©) 3 = o O Shape I
T Llg® s 11
o T : VAN
% v T ; \ %
End effector side \ ' yeH: Parallel pin JIS B 1354 for N j /

% G: Hex socket bolt for
installing end effector

positioning end effector

Shape Il

Configuration @ % Hex socket bolt for
installing adapter plate
M4x10 4 pc.

Adapter plate

' % Parallel pin JIS B 1354 for
1 S S N ;  positioning adapter plate
B type 3x6 1 pc. D

End effector side
$56 [2.205]

View from arrow Z

1) KOGANEI



Dimensions (mminJ)
D

Robot type : SCARA
Shaft diameter : 16 [0.630]
@ Air hand
Mass (g [0Z]) Dimensions Accessories
Model Configuration| Shape G H
Product "*3| End effector Nte4 A B C D E F Si Eour 5 Count
1ze oun 1ze oun
35 B type
KRJS-EPS-16-AFDPG6 | 85(3.00] | 52 [1.83] ® I el - - - - - |M2sx12l 2 A 2
KRJS-EPS-16-AFDPG8 | 160 [5.64] | 86 [3.03] ® I [2_52%5] [0_1597] - - [0_536] [1_2;’11 g M6 | 2 Bpe | 2
KRJS-EPS-16-AFDPG12 | 160 [5.64] | 200 [7.05] @ I [2_52%5] [0_1597] - - [0_536] [1_‘(;11 g M8 | 2 Bype | 2
KRJS-EPS-16-AFDPGL6 | 110[3.88] | 60 [2.12] ® I [2_2%5] [0_336] [1_3361 - - - |mesxaz) 2 | PR 2
KRJS-EPS-16-AFDPGL8 | 125 [4.41] | 135 [4.76] ® I [331] [0_2636] [1236] - - - maa| 2 SWPE o
KRJS-EPS-16-AFDPGL12| 155 [5.47] | 330 [11.64] ® I [397%0] 0 §15] [1?;11 ql - - - | maxts| 2 | BYRe 5
KRJS-EPS-16-NHE1D16 | 100 [3.53] | 170 [6.00] ® I [1‘23‘1 alo I al - . . - Immas | 3 | Bhee 4
KRJS-EPS-16-NHE1D20 | 115 [4.06] | 306 [10.79] ® I [1;;20] 0 o 4l - - - - | maxa0| 3 | BWRe ) 4
@ Compliance light
Mass (g [0Z]) Dimensions Accessories
Model Configuration| Shape G H
Product "*3| End effector Nete# A B C D E = Si S S p—
1ze oun 1ze oun
KRJS-EPS-16-CPL34F | 100(3.53]| 42 [1.48] ® I [1;‘5’1] 0 2636] - - - - | maxe | 4 | BhRE )y
KRJS-EPS-16-CPL54F | 115[4.06] | 130 [4.59] @ I [2_%6] [0_2636] - - - - | msxiz | 4| pbRe
@ Auto hand changer
Mass (g [0z]) Dimensions Accessories
Model Configuration| Shape G H
Product M ®| End effector Note# A B C D E [F 5 o e —
1ze oun 1ze oun
KRJS-EPS-16-MJC3 | 85[3.00] | 65[2.29] ©) i 238] - - - - - M0 | 4 | BhEel
KRJS-EPS-16-MJC10 | 125 [4.41]| 235 [8.29] ® I [2%6] [0_35 e - - - | Msx0 | 4 | BEel
@Electric hand
Mass (g [0Z]) Dimensions Accessories
Model Configuration| Shape G H
Product "3| End effector Nt A B C D E F e - e —
KRJS-EPS-16-EWHAGH | 115[4.06] | 150 [5.29] ® i [2_52883] [0_536] - [1_32 gl - - | maxw0| 4 Bl
KRJS-EPS-16-EWHA12H | 160 [5.64] | 290 [10.23] ® I [3*:?.)0] o 536] - - - - et | 4 BYRE o
KRJS-EPS-16-EWHA12A | 115 [4.06] | 170 [6.00] ® m [22883] 0 2636] - [132 gl - - maxaz| 4 BYRE 5
KRJS-EPS-16-EWHA24A | 140 [4.94] | 260 [9.17] ® m [22235] 0 536] - [12120] - - Maxaz| 4 BRI 5
KRJS-EPS-16-EWHA36A | 140 [4.94] | 260 [9.17] ® m [2225] o 2536] - [12120] - - maxaz| 4 BWREl 5
KRJS-EPS-16-EW2H8 | 115[4.06] | 90 [3.17] ® i [252%3] o0 2636] - [132 g - - | maxe| 4 Bl
KRJS-EPS-16-EW2H18 | 140 [4.94] | 160 [5.64] ® i [2;%5] [0_536] - [1_2120] - - | maxig| 4 Bl
KRJS-EPS-16-EW2HL8 | 115 [4.06] | 140 [4.94] @ m [2_52883] [0_336] - [1_(232 gl - - maxte| 4 | BYRE | o
KRJS-EPS-16-EW2HL18 | 140 [4.94] | 250 [8.82] ® i [2;235] [0_536] - [1_2120] - - | maxts| 4 | BYRE o

Note 1: The F7 tolerance is before machining of the slit. After machining of the slit, F7 may be inaccurate.
2: In the drawings, the (%) bolts and pins are accessories.
3: The product weight includes the weight of the bolts and parallel pins that are accessories.
4: The end effectors are not included with these products. They must be ordered separately.
5: The KRJS-EPS-16-CPL54F uses the old JIS A type parallel pin for positioning the end effector.

KOGANEI (2



Dimensions mmin.))

Robot type : SCARA
Shaft diameter : 20 [0.787]

z
Configuration (D |
PA
% Shatft clamp bolt 40 [1'575L 1
Hex socket bolt $20 [0.787] F7N°®
M5x16 2pc. M4
(Assembled when shipped)
F) | = —
e ‘ = 8 & [shapel
; ‘ 2y N5 ape
ASZ ! bl [
 Er—— ® g
er, " 1 5 } #
! il | TR
77777777777 * 7Gi:7F707rJ installing end effector jg }Jj—/
% H: For positioning end effector Hex socket bolt (N
Parallel pin JIS B 1354 :

Configuration @ Shape IlI
% For installing adapter plate
Hex socket bolt

[ 1
NS ; M4x12 4 pc.
I ¢ |
w AN !
7
“"”"?’Jrﬁﬁ ' ‘ Adapter plate
T i jiass
Rl Il |
! | YFor positioning adapter plate
fffffffffffffffffffffffffffffff Parallel pin JIS B 1354

End effector side
$64 [2.520]

B type 3x6 1 pc

View from arrow Z



Dimensions mmin.))
D

Robot type : SCARA
Shaft diameter : 20 [0.787]
@ Air hand
Mass (g [0Z]) Dimensions Accessories
Model Product "*3| End effector Nte4 Configuration| Shape A B C D E F Size G ps— Sz H e T—
KRJS-EPS-20-AFDPG8 | 220 [776] | 86 [3.03] ® 1 [2'%‘;0] [0_3815] ; - [0_536] [1.2311 g M6 | 2 Supe | 2
KRJS-EPS-20-AFDPG12 | 220 [776]| 200 [7.05] ® I [2_65‘;0] [0_315] - ; [0_2636] [1_‘(‘311 4| M4 2 B;}(’ge 2
KRJS-EPS-20-AFDPG14 | 235 [8.29]| 390 [13.76] ® I [2_%‘;0] [0_315] - - [0_215] [1_233] MEx10 | 2 B;}(’ge 2
KRJS-EPS-20-AFDPGLS | 155 [5.47]| 135 [4.76] ® i [3_@1] [0.:?15] [1_‘%2] ; ; - | wm3x1a| 2 Z‘g’fg 2
KRJS-EPS-20-AFDPGL12| 175 [6.17]| 330 [11.64] ® i [3%%0] [0_315] [1_‘;22] ; ; - | maxig| 2 B;de 2
KRJS-EPS-20-AFDPGL14 | 155 [5.47] | 570 [20.11] ® I [3.9533] [0.215] [1";‘:‘32] - - - | msxta| 2 | BWRe 5
KRJS-EPS-20-NHE1D20 | 125 [4.41]| 306 [10.79] ® 1 [1%20] [0_13% al - - - - | maxa0| 3 | BhRe 4
KRJS-EPS-20-NHE1D25 | 155 [5.47] | 580 [20.46] @ I [2_%%2] [0_13% gl - ; ; - | M4xa5 | 3 Bstzge 1
@ Compliance light
Mass (g [0Z]) Dimensions Accessories
Mode Product " 3| End effector Nete4 Configuration) Shape A B C D E F Size G e — Size H e
KRJS-EPS-20-CPL54F | 175[6.17] | 130 [4.59] ® I [2;%5] [0.315] - - - - | msxto| 4 | BYREe 4
KRJS-EPS-20-CPL70F |175[6.17]| 250 [8.82] 0] I [2_77%6] [0_215] - - - - | M5x14 4 B;}(’ge 1
@ Auto hand changer
Mass (g [0z]) Dimensions Accessories
Model Product M ®| End effector Note# Configuration Shape A B C D E [F Sz G Count Size H Count
KRJS-EPS-20-MJC10 | 135[4.76] | 235 [8.29] ©) I [2_51‘;6] [0_354] - - - - | M5x30 4 B“‘gge 1
@Eectric hand
Mass (g [0z]) Dimensions Accessories
Model Product " 3| End effector Nete4 Configuration Shape A B C D E F Size G Count Size H Count
KRJS-EPS-20-EWHA12H | 200 [7.05] | 290 [10.23] 0] I [3_?%0] [0_315] - - - - | M3x16 4 B;}(’ge 2
KRJS-EPS-20-EWHA24H| 200 [705] | 350 [12.35] ® I [Sﬁ%O] [0_3815] . ; ; - | wm3xi6| 4 BZ‘}(’ge 2
KRJS-EPS-20-EWHA36H| 200 [705] | 360 [12.70] @ I [3_?%0] [o.§15] - - - - maxte| 4 BYRE| o
KRJS-EPS-20-EWHA12A | 140 [4.94] | 170 [6.00] ® 1 [2.2883] [0315] - - - - maxaz| 4 BYRE 5
KRJS-EPS-20-EWHA24A | 175 [6.17] | 260 [9.17] ® il [2.2235] [0.3815] - [12120] - - Maxaz| 4 BRI 5
KRJS-EPS-20-EWHA36A| 175 [6.17] | 260 [9.17] ® m [2;%5] [0_515] . [1_2120] - - maxaz| 4 BRIl 5
KRJS-EPS-20-EW2H18 |175[6.17]| 160 [5.64] @ m [2;%5] [0_315] . [12120] ; - | maxts | 4 B;}(’ge 2
KRJS-EPS-20-EW2H28 | 225 [7.94] | 360 [12.70] ® m [3?65] [0_315] - [1_;‘:35] - - | Maxes | 4 Bstj(’ge 2
KRJS-EPS-20-EW2HL18 | 175 [6.17] | 250 [8.82] ® m [2_2235] [0.:?15] . [1_2120] ; - | maxis| 4 Bstzge 2
KRJS-EPS-20-EW2HL28 | 225 [794] | 480 [16.93] ® i [3.?‘%5] [0_215] - [1_‘})35] - - | maxes| 4 BYRE o

Note 1: The F7 tolerance is before machining of the slit. After machining of the slit, F7 may be inaccurate.
2: In the drawings, the (%) bolts and pins are accessories.
3: The product weight includes the weight of the bolts and parallel pins that are accessories.
4: The end effectors are not included with these products. They must be ordered separately.

KOGANEI



Dimensions (mm in.))

Robot type : SCARA
Shaft diameter : 25 [0.984]

z
Configuration D Shape |
PA
% Shatft clamp bolt $45 [1.772]
Hex socket bolt Note 1
M5x16 2 pc. $25[0.984] F7 a
Jilas
EB‘ i o =
! | N [ee]
e S35
] i I = =
e — S| ™ B
I T I w
m br=fR=7=* ==
[ (‘m ‘ ii ‘ ﬂf‘ Shape Il
End effector side *G: For installing end effector
Hex socket bolt

% H: For positioning end effector
Parallel pin JIS B 1354

\

. . For installing adapter plat
Configuration @ *H%;'gf,g(;?%;t aperpEte | shape Il
E} | M5x14 4 pc.
o4
w ! i A I
TE — 1 dapter plate
A
R B .
AL 0¥
N 1 For positioning adapter plate
End effector side Parallel pin JIS B 1354
B type 3x6 1 pc
$69 [2.717] b

View from arrow Z

15 KOGANEI



Dimensions mmin.))
D

Robot type : SCARA
Shaft diameter : 25 [0.984]
@Air hand
Mass (g [0z]) Dimensions Accessories
Model Product M| End effector Mt Configuration| Shape A B C D E B - G : H
Size Count Size Count
KRJS-EPS-25-AFDPG12 | 265[9.35]| 200 [7.05] @ I [2.%7] [0.3815] - - [012776] [1_;‘3%4] Maxg | 2 | BYRE | 5
KRJS-EPS-25-AFDPG14 | 275(9.70] | 390 [13.76] @ I [2_‘;517] [o.§15] - - [0_215] [1.?333] Msxto | 2 | BPe | o
KRJS-EPS-25-AFDPG18 | 275 [9.70] | 690 [24.34] ® I [2_‘;&17] [0_315] - - [0_215] [1_233] Msxto | 2 | Be |
KRJS-EPS-25-AFDPGL12 | 195 [6.88] | 330 [11.64] ® I [3_97%0] [0_3815] [1;30] - - - | maxig| 2 | Biel
KRJS-EPS-25-AFDPGL14 | 195 [6.88] | 570 [20.11] ® I [3_9533] [0_215] [23317] - - - | msxta| 2 | BYRe o
KRJS-EPS-25-AFDPGL18| 195 [6.88] | 1020 [35.98] ® i [3.%33] [0315] [2.%%17] - - - msxte| 2 | BYRe o
KRJS-EPS-25-NHE1D25 | 165 [5.82]| 580 [20.46] © I [2.63%2] [0_13% al - ) ) - I Maxas| 3 | B ;de ]
@ Compliance light
Mass (g [0z]) Dimensions Accessories
Model Product "2| End effector e Configuration| Shape A B C D E H S G Court e H G
KRJS-EPS-25-CPL70F | 185 [6.53] | 250 [8.82] ® I [2.77%6] [0.3815] - - - - | msxta| 4 | BWRE 4
KRJS-EPS-25-CPLOOF | 255 [8.99] | 460 [16.23] ® I [3_9533] [0_515] - - - - | Mexte | 4 | BWRe 4
@ Auto hand changer
Mass (g [0Z]) Dimensions Accessories
Model Product N*3| End effector Nete 4 Configuration Shape A B C D E F Sizo G S - H o
KRJS-EPS-25-MJC10 | 145[5.11] | 235 [8.29] ® 1 [2_51‘;6] [0_35 ql - - - - | msxao | 4 | BYRe 4
KRJS-EPS-25-MJC20 | 190 [6.70] | 470 [16.58] ® I [2_77%6] [0_3?5 4l - - - - | msxas | 4 | BEel
@Electric hand
Mass (g [0Z]) Dimensions Accessories
Model Product "?| End effector "t Configuration| Shape A B C D E F Size G S - H o
KRJS-EPS-25-EWHA12H| 210 [741] | 290 [10.23] ® I [3_?%0] [0_315] - - - - maxte| 4 | BWRE) 5
KRJS-EPS-25-EWHA24H| 210 [741] | 350 [12.35] ® I [3-2%0] [0_315] - - - - | maxe| 4 Bl
KRJS-EPS-25-EWHA36H| 210 [741] | 360 [12.70] ® I [3.%%0] [0_3815] - - - - | maxe| 4 | BEREl
KRJS-EPS-25-EWHA12A| 150 [5.29] | 170 [6.00] ® I [22%3] [0_315] - - - - maxaz| 4 BYRE o
KRJS-EPS-25-EWHA24A | 185 [6.53] | 260 [9.17] ® m [2;235] [0.3815] - [1_2120] - - maxaz| 4 BYRE 5
KRJS-EPS-25-EWHA36A| 185 [6.53] | 260 [9.17] ® m [2;%5] [o.§15] - [1_3120] - - Maxaz| 4 BRI 5
KRJS-EPS-25-EW2H18 | 185 [6.53] | 160 [5.64] ® i [2_2%5] [0_315] - [1_2120] - - | maxts| 4 | BWRE 5
KRJS-EPS-25-EW2H28 | 235 [8.29] | 360 [12.70] ® i [3.?1865] [0_315] - [1_;‘:35] - - | maxes | 4 | BIREl
KRJS-EPS-25-EW2HL18 | 185 [6.53] | 250 [8.82] ® i [2_2235] [0.:?15] - [1_3120] - - | maxig| 4 | BMEEl
KRJS-EPS-25-EW2HL28 | 235 [8.29] | 480 [16.93] ® m [32%5] [0_215] - [1_‘})35] - - | maxes| 4 | BYRE o

Note 1: The F7 tolerance is before machining of the slit. After machining of the slit, F7 may be inaccurate.
2: In the drawings, the (%) bolts and pins are accessories.
3: The product weight includes the weight of the bolts and parallel pins that are accessories.
4: The end effectors are not included with these products. They must be ordered separately.

KOGANEI



Dimensions mmin.))

(D
: Vertical articulated
Installation diameter : 27 [1.063]

Robot type

Configuration @

2[0.079], B

010.0003]
04 [0.002]

$12 [0.472]55:

dA

H: For installing robot
Hex socket bolt

H: For positioning robot
Parallel pin JIS B 1354
B type 4x8 1 pc

¢
N

End effector side

; et
: L
i i

Hex socket bolt

Shape |

Shape |

% : For installing end effector

% J: For positioning end effector
Parallel pin JIS B 1354

2[0.079]

Hex socket bolt

%K: For installing adapter plate

Configuration @

PA
$12[0.472]:9% 5%

Adapter plate /

+ i
=

—————— £

Shape lli

~ For positioning adapter plate

Parallel pin JIS B 1354

B type 3x6 1 pc

View from arrow Z

$9.5 [0.374], counterbore
depth 5.4 [0.213]




Dimensions mm{in.))

Robot type : Vertical articulated
Installation diameter : 27 [1.063]
@Air hand
Mass (g [0z]) Dimensions Accessories
Configu-
Mode Product "¢2 | End effector M@ | ration Shape A B © D E 7 G H ! J K
Size |Count| Size |Count| Size |Count| Size |Count
52 8 i 5 13 52 B type
KRIVEPS-27-AFDPGS | 90(3.7]| 86[3.03] | @ | I |28 | 8 05071 05121 [2oa MB<10| 4 M6 | 2 |DURS) 2 |waxtz| 4
KRJV-EPS-27-AFDPG12 [140[4.94]| 200(705] | @ | I [2.%%3] [0_3815] . [o.:?se] [0_15‘;1] [2%%2] Msx10| 4 |M&xg| 2 (BPEI 2 |maxiz| 4
KRJV-EPS-27-AFDPG14 [170[6.00]| 390[13.76] | @ | I [2_?.)%8] [0_§15] - [0_,?15] [0_16630] [2_%%8] Msx10| 4 |Msxt0| 2 \BYPe| o |Maxta| 4
KRJV-EPS-27-AFDPGL8 | 75[2.65] | 135[4.76] | @ | I [3_@1] [0_3815] [1226] . . Msx10| 4 |Maxis| 2 |BYPE| ]
KRJV-EPS-27-AFDPGL12 | 95 [3.35] | 330[11.64] | ® | I [3_3680] [0‘??15] [1_‘(‘511 al . Msx10| 4 |waxeo| 2 |BYRC| 2 ]
6 | 8 | 66 | | 8 | 16 | 92 B type
KRUVEPS-27-AFDPGL14 225794 570[20.11] | @ | T |, 80010 8l 800 (0.515] [0.630] 3 002y MEX10| 4 |Msx14| 2 |BIRE] 2 waxta| 4
KRJV-EPS-27-NHE1D20 | 55(1.94] | 306[10.79] | ® | I [2?)%17] o 315] . . Msx10| 4 |Maxdo| 3 |BRe| 4 ]
KRJV-EPS-27-NHE1D25 | 75 [2.65] | 580 [20.46] | @ | I [2‘;%2] o 3815] . . Msx10| 4 |Maxds| 3 |BRe| 4 ]
@ Compliance light
Mass (g [0z]) Dimensions Accessories
Model Product "¢z | End effector 2 | Srebe A|lB|c|D|E|F]|a H ! J K
roduct " nd effector "
Size |Count| Size |Count| Size |Count| Size |Count
KRJV-EPS-27-CPL54F [105[3.70]| 130[459] | ® | I [22235] [0315] Msxio| 4 |Msxi2| 4 |BYRe| 4 | - |
KRJV-EPS-27-CPL70F |175[6.17]| 250[8.82] | @ | I [396222] [03815] Msxio| 4 |Msxtz| 4 [BYEe| 4 | | -
@ Auto hand changer
Mass (g [0z]) Dimensions Accessories
Model Product "¢z | End effector 2 | Srebe A|lB|c|D|E|F]|a H ! J K
roduct " nd effector "
Size |Count| Size |Count| Size |Count| Size |Count
KRJV-EPS-27-MJC3 | 50[176] | 65[2.29] | @ | II [1;%9] [0.3815] [0§%7] <] - | - |Msxo] 4 [maxeo| 4 [BYRSl 4| |-
KRJV-EPS-27-MJC10 | 75[2.65] | 235(8.29] | @ | I [25;‘;6] [013%4] o e /o AT S
@Electric hand
Mass (g [0z]) Dimensions Accessories
Model Product "¢z | End effector 2 | Srebe A|lB|c|D|E|F|a H ! J K
roduct " nd effector "
Size |Count| Size |Count| Size |Count| Size |Count
KRJV-EPS-27-EWHA12H 125 [4.41]| 290[1023] | ® | I [3?%0] [0515] S]] - sxo] 4 |axe| 4 BYREl o
KRJV-EPS-27-EWHA24H | 125 [4.41]| 350[12.35] | @ | I [351%0] [03815] o] |sxio] 4 |maxte| 4 BYRE2 | - |-
KRJV-EPS-27-EWHA36H 125 [4.41]| 360 [12.70] | @ | I [3?%0] [03815] Sl -] - |sxio] 4 |maxte| 4 BYREl2 | - | -
KRJV-EPS-27-EWHA12A| 70 [2.47] | 170(6.00] | @ | I [252%3] o §15] S ] wsxa0) 4 waaz) 4 (BRE) o
KRJV-EPS-27-EWHA24A 105 [3.70]| 260[9.17] | ® | I [22235] [03815] S ] |wsxa0] 4 waaz) 4 BBRE) oL
KRJV-EPS-27-EWHA36A 105 [3.70]| 260[9.17] | @ | I [22235] [03815] Sl -] |sxio] 4 (mexiz| 4 (BRE 2| L |
KRJV-EPS-27-EW2H8 |70[2.47]| 90[317] | ® | I [22883] [0315] S| ] |sxo] 4 |wacas) 4 (BRE) 2
KRJV-EPS-27-EW2H18 [105[3.70]| 160[5.64] | @ | I [22235] [03815] S]] |sxio] 4 maxis) 4 (BRE) 2
KRJV-EPS-27-EW2H28 | 145 [5.11]| 360 [12.70] | ® | II [3226] [03815] ; [1225] <l o - |Msx0] 4 |maxes| 4 [BYREl 2 |
KRJV-EPS-27-EW2HL8 | 70 [2.47] | 140[4.94] | @ | I [252883] o §15] S ] |wsxao) 4 wsas) 4 (BRE) 2
KRJV-EPS-27-EW2HL18 | 105 [3.70]| 250[8.82] | ® | I [22235] o 3815] S| ] |wsx0) 4 maxis) 4 (BRE)
KRJV-EPS-27-EW2HL28 | 145 [5.11]| 480[16.93] | ® | II [3‘83686] [01315] - [1;35] <] | - |Msx0) 4 |maxes| 4 BYRCl o |

Note 1: In the drawings, the (%) bolts and pins are accessories.
2: The product weight includes the weight of the bolts and parallel pins that are accessories.
3: The end effectors are not included with these products. They must be ordered separately.

KOGRANEI



Dimensions mm{in))

Robot type : Vertical articulated
Installation diameter : 31 [1.240]A

Shape I

% H: For positioning robot
Parallel pin JIS B 1354
B type 5x8 1 pc

% : For installing end effector
Hex socket bolt

Shape | 5[0.197]'>> Depth 4 [0.157] (rear)
_: N3 450
5 4-94.5[0.177]
S| 200079, B 7 @8 [0.315], counterbore
) . S, N depth 4.470.173
Configuration | & o ‘ ep 4 [0.173]
™~ = | R \\zA
< 2 iiiiii | ! ¢3\5
S 5 P
E: J : ]
3 / 3 i g
3 - llel—p 8.,
| v o2
! e L
| —H_ u:_|
| T /

e Glg

% J: For positioning end effector
Parallel pin JIS B 1354

% H: For installing robot
Hex socket bolt

(@]

%K: For installing adapter plate

Configuration @ Hex socket bolt Shape IlI

Robot|side

-

s
i

BT

A
$12[0.472]231 199003

End effector side
oG

L—
Pl

/

L e % For positioning adapter plate
M Parallel pin JIS B 1354
apter plate B type 3x6 1 pc

View from arrow Z

KOGRANEI



Dimensions mm i

n.])

Robot type : Vertical articulated
Installation diameter : 31 [1.240]A
@ Air hand
Mass (g [0z]) Dimensions Accessories
Configu-
Model Product 2| End efector =2 ration [Pl A | B | ¢ [ b | E | F | @ H ! J K
u lote lote
Size |Count| Size |Count| Size |Count| Size |Count
KRJV-EPS-31A-AFDPG6| 30 [106] | 52[183] | @ | I [1‘(‘3";4] [0536] N A R
52 | 6 T s |11 | s B type
KRJV-EPS-31A-AFDPGS| 75(265]| 86(3.03] | @ | 1 |, | 0 01071 0433 o047 M6 | 4 |Maxe| 2 DI 2 waxio] 4
KRJV-EPS-31A-AFDPG12 | 110 [3.88]| 200[705] | @ | I [2‘63%2] [0_336] - [0.536] [0_11272] [2_%%2] Max6| 4 |Max8| 2 (PYPe) 2 |maxto| 4
KRJV-EPS-31A-AFDPGL6| 35 [123] | 60[2.12] | @ | I [25;‘;6] [0336] [éég] Sl e maxe| 4 uesaz 2 |BYPE| 2 ]
KRJV-EPS-31A-AFDPGLS| 55 [1.94] | 135[4.76] | @ | I [3@1] [0536] [1?4’?7] L e make| 4 axae| 2 |BUPE] o ]
KRJV-EPS-31A-AFDPGL12| 80 [2.82] | 330[11.64] | @ | I [33%0] [0536] [1‘;‘:‘,,2] Sl e mase| 4 a2 |BYPE| 2 ]
KRJV-EPS-31A-NHE1D16(125 [4.41]| 170[6.00] | @ | I [2_63%2] [0_236] - [0_,?15] [0_15‘;1][2%%2] Max6| 4 |Maxas| 3 (BYPCI 1 |maxiz| 3
KRJV-EPS-31A-NHE1D20| 50 [1.76] | 306[10.79] | @ | I [1‘;20] o 3815] e N [ IR Ve R A o ]
@ Compliance light
Mass (g [0Z]) Dimensions Accessories
Configu-
Model Product "2 | End effector @ | ration Shape A B (0} D E F G H ! J S
gt he -
Size |Count| Size |Count| Size |Count| Size |Count
KRJV-EPS-31A-CPL34F| 35[123] | 42[148] | ® | I [1}‘;‘1] [0236] Sl ] [mae| 4 mse| 4 (BURS] )
KRJV-EPS-31A-CPL54F| 80 [2.82] | 130[4.59] | @ | I [2_2235] [0_2636] Sl ol o] - | maxe| 4 |msxto] 4 (AR .
@ Auto hand changer
Mass (g [0z]) Dimensions Accessories
Configu-
Model Product =2 | End effector M@ | ration Shape A B (0} D E F G H ! J S
Size |Count| Size |Count| Size |Count| Size |Count
KRJV-EPS-31A-MJC3 | 30[1.06] | 65[220] | @ | I [1224] [0236] Sl ol o o] - [ maxe| 4 |[Maxeo| 4 B;}(’ge 1 ;
KRJV-EPS-31A-MJC10 | 75[2.65] | 235(8.29] | @ | I [2%6] [0_13%4] S o o - Imaxdol 4 |Msxa3o| 4 nge 1 ]
@Electric hand
Mass (g [0Z]) Dimensions Accessories
Configu-
Model Product 2 | End effector M3 | ration Shape A B © D E F G H ! J K
Size |Count| Size |Count| Size |Count| Size |Count
Note 6
KRJV-EPS-31A-EWHAGH | 90 [3.17] | 150[5.29] |@Mees| T [12‘;5] [0.15312] - ; [0_1597] [0_17%9] [2_52%5] Maxis| 4 |Maxio| 4 thi'ge 2 ]
KRJV-EPS-31A-EWHA12H | 95 [3.35] | 290[10.23] | @ | I [353%0] [02636] S ] - [ maxe) 4 uaas) 4 (BBEC) o ]
KRJV-EPS-31A-EWHA12A | 50 [1.76] | 170(6.00] | @ | I [252883] [0336] S -] - [ maxe) 4 [mao) 4 (BBEC) o ]
KRJV-EPS-31A-EWHA24A | 75 [2.65] | 260[9.17] | @ | I [2;%5] [0_536] ; [1‘3120] <] -] - | maxe| 4 axio] 4 |BDPE] 2 ]
KRJV-EPS-31A-EWHA36A | 75 [2.65] | 260[9.17] | @ | II [22235] [0536] - [13120] <] -] | maxe| 4 axio| 4 |BUPE] 2 ]
KRJV-EPS-31A-EW2H8 | 50 [1.76] | 90[3.17] | @ | I [252883] [0236] S ] - [ maxe) 4 [made) 4 (BUEC) o ]
KRJV-EPS-31A-EW2H18| 75 [2.65] | 160[5.64] | @ | I [22235] [0236] ; [12‘20] <l e | mase| 4 a4 |BUPE] 2 ]
KRJV-EPS-31A-EW2HL8 | 50 [1.76] | 140[4.94] | @ | I [252%3] [0536] Sl o] maxe| 4 |maxis) 4 (BYRE) 2 ]
KRJV-EPS-31A-EW2HL18 | 75 [2.65] | 250(8.82] | @ | I [2_225] [0_2636] . [1_2‘20] <o | maxe| 4 s 4 |BUPE] o ]

Note 1: In the drawings, the (%) bolts and pins are accessories.
2: The product weight includes the weight of the bolts and parallel pins that are accessories.
3: The end effectors are not included with these products. They must be ordered separately.
4: The KRJV-EPS-31A-CPL54F uses the old JIS A type parallel pin for positioning the end effector.
5: The robot joint and adapter plate of the KRJV-EPS-31A-EWHAG6H is integrated.
6: The KRJV-EPS-31A-EWHAGH uses hex bolts for mounting the end effector.

KOGRANEI 20



Dimensions mmin.))

Robot type

Configuration (D

: Vertical articulated
Installation diameter : 31 [1.240] B

3[0.118] B

A
8 [0.315]3% 5%

% H: For installing robot

Hex socket bolt

% H: For positioning robot

Parallel pin JIS B 1354

B type 5x8 1 pc

3[0.118] F

Configuration @

@) KOGANEI

%K: For installing adapter plate
Hex socket bolt

(@)

DA

-0.01[0.0003]
0.04 [0.002]

0.315

#8 ]

Shape I

oG

Robot side

End effector side

Shape | 5[0.197]-3***" Depth 4 [0.157] (rear)
bf'.)o 450
4-94.5[0.177]
A5 ®8 [0.315], counterbore
T depth 4.4 [0.173]
k) \\'ZAQ\
(0]
©
7]
S
Q -—
3 Z
[
2 L
w
Shape Il /—\
% : For installing end effector T
Hex socket bolt
% J: For positioning end effector @\Jgé
Parallel pin JIS B 1354
p ~_|

Adapter plate /

% For positioning adapter plate
Parallel pin JIS B 1354
B type 3x6 1 pc

/

)
e g

all

View from arrow Z



Dimensions (mminJ)
D

Robot type : Vertical articulated
Installation diameter : 31 [1.240] B
@ Air hand
Mass (g [0Z]) Dimensions Accessories
Configu-
Model . Shape H | J K
Product 2 | End effector M3 | ration A B © D E F G . = : -
Size |Count| Size |Count| Size [Count| Size |Count
KRJV-EPS-31B-AFDPG6| 30 [106] | 52[183] | ® | I [1‘é§4] [0536] Sl o o | - |Maxe| 4 mesxi2l 2 thzge 2| - |-
52 | 6 5 | 11| 82 B type
KRJV-EPS-31B-AFDPGS| 75(2.65] | 86(3.03] | @ | 1 |02 | 2 (0.07) (0453 [2oar M4x6| 4 [Maxe| 2 | DR 2 maxto] 4
KRJV-EPS-31B-AFDPG12|105 [3.70]| 200[705] | @ | I [22%2] [0336] ; [0336] [0_14272] [2222] Mdx6| 4 |Max8| 2 B;de 2 |Maxto| 4
KRJV-EPS-31B-AFDPGL6| 35 [123] | 60[212] | @ | T [2%6] [0;36] [1‘%9] Sl o o] o [ Maxe| 4 |mesx 2 thﬁe 2 | - | -
KRJV-EPS-31B-AFDPGLS| 55 [1.94] | 135[4.76] | @ | T [33)87” [02636] [13‘157] Sl o o] - [ Maxe| 4 |M3xi4| 2 22’5; o | - | -
KRJV-EPS-31B-AFDPGL12| 80 [2.82] | 330[1164] | @ | II [3%%0] [0536] [1%2] L] ] - [ maxe| 4 (maxas| 2 BYRel 2 | |
KRJV-EPS-31B-NHE1D16|125 [4.41]| 170[6.00] | @ | I [2_‘;%2] [0.536] . [0_;5] [0_15‘21] [2.‘;%2] Max6| 4 M35 3 (BIPC| 1 |maxiz| 3
KRJV-EPS-31B-NHE1D20| 50 [1.76] | 306[10.79] | @ | I [1‘é30] o ,§15] S o] - - |m4ax8| 4 |M3xdo| 3 B;zge 1] - -
@ Compliance light
Mass (g [0z]) Dimensions Accessories
Configu-
Model ) Shape H | J K
Product M2 | End effector M3 | ration A B © D E F G - : : -
Size |Count| Size |Count| Size [Count| Size |Count
KRJV-EPS-31B-CPL34F| 35[123] | 42[148] | @ | I [1‘;?1] 0 536] L] mase| 4 [maxe| 4 [BIREl 4 |]
KRJV-EPS-31B-CPL54F| 80 [2.82] | 130[4.59] | @ | I [2225] [0536] e I T 7 R VST R 0 o R R
@ Auto hand changer
Mass (g [0z]) Dimensions Accessories
Configu-
Model . Shape H | J K
Product M2 | End effector M3 | ration A B © D E F G - : : -
Size |Count| Size |Count| Size [Count| Size |Count
KRJV-EPS-31B-MJC3 |30[1.06] | 65[229] | @ | I [12@4] [0536] S]] - | maxe| 4 mo) 4 (BRI ||
KRJV-EPS-31B-MJC10 | 75 [2.65] | 235[8.29] | @ | I [251‘;6] [0‘3%4] o o - - [maxdol 4 |Msxa0| 4 B4t>)(/ge 1] - -
@Electric hand
Mass (g [0z]) Dimensions Accessories
Configu-
Model ) Shape H | J K
Product "2 | End effector M3 | ration A B © D E F G - : : -
Size |Count| Size |Count| Size [Count| Size |Count
Note 6
KRJV-EPS-31B-EWHA6H | 90 [3.17] | 150 [5.29] |@Moes| T [1_2(7’5] [0_‘5312] - [0_1597] [0_17%9] [22%5] Maxis| 4 |Maxio| 4 |BYREl o | - | -
KRJV-EPS-31B-EWHA12H| 95 [3.35] | 290[10.23] | @ | I [3?%0] o 236] Sl o o - [ maxe| 4 |[Max14| 4 thzge 2| - |-
KRJV-EPS-31B-EWHA12A| 50 [1.76] | 170(6.00] | @ | I [22883] o 536] o o - [ Mmaxe| 4 |Msx10| 4 thzge 2| - | -
KRJV-EPS-31B-EWHA24A| 75 [2.65] | 260[9.17] | @ | [2_225] [0236] ; [1_2120] - o | - |M4axe| 4 |M3xto| 4 thzge 2 | - | -
KRJV-EPS-31B-EWHA36A | 75 [2.65] | 260[9.17] | @ | [22%5] [02636] - [1_2120] - - - |M4x6| 4 |M3x10| 4 B‘,Z‘i’ge 2| - -
KRJV-EPS-31B-EW2H8 | 50[1.76] | 90[3.17] | ® | T [252883] [02636] ; | | - |Max6| 4 |m3xie| 4 thi’ge 2| - | -
KRJV-EPS-31B-EW2H18 | 75 [2.65] | 160[5.64] | @ | I [22235] [0536] - [13120] <l o - [Maxe| 4 (maxig| 4 BYREI o L]
KRJV-EPS-31B-EW2HL8| 50 [1.76] | 140[4.94] | ® | I [252883] [0536] ; | | - |Maxe| 4 |m3xis| 4 thzge 2| - |-
KRJV-EPS-31B-EW2HL18| 75 [2.65] | 250(8.82] | (© | I [2_235] [0236] ; [1_‘3120] o | - |M4axe| 4 |maxis| 4 Bstzge 2| - | -

Note 1: In the drawings, the (%) bolts and pins are accessories.
2: The product weight includes the weight of the bolts and parallel pins that are accessories.
3: The end effectors are not included with these products. They must be ordered separately.
4: The KRJV-EPS-31B-CPL54F uses the old JIS A type parallel pin for positioning the end effector.
5: The robot joint and adapter plate of the KRJV-EPS-31B-EWHAGH is integrated.
6: The KRJV-EPS-31B-EWHAGH uses hex bolts for mounting the end effector.

KOGANEI 2



Dimensions mmin.))

Robot type : Vertical articulated
Installation diameter : 40 [1.575]

Shape I @5 [0.197]3% 0o Depth 3.5 [0.138] (rear)
5 450
B 4-¢5.5 [0.217]
i . 4 $9.5 [0.374], counterbore
Configuration 1 ’ depth 5.4 [0.213]
T 3}
1 B (\>A‘0\\57 '
: 3
! b= @
= 5 1
3 NERE:
< & | e ' %
8 B~ : gz 7 5 [0.197]5*2 %1 Depth 3.5 [0.138] (rear)
€ ! : \
3 - Shape I
. ; : / % : For installing end effector
*H: E%;'ggﬁ(lg?%éﬁbm / - Hex socket bolt

% J: For positioning end effector

% H: For positioning robot Parallel pin JIS B 1354

BJIER
&8

Parallel pin JIS B 1354
B type 5x8 2 pc % K: For installing adapter plate
Hex socket bolt
Configuration @ ‘
s
8 e
<| @ 206
Q| B —3a C
o [
[} | (4]
o o
DG
| Shape I

% For positioning adapter plate
Parallel pin JIS B 1354
B type 3x6 1 pc

Adapter plate

ET
&

View from arrow Z

@) KOGANEI



Dimensions mm{in))
D

Robot type : Vertical articulated
Installation diameter : 40 [1.575]
@Air hand
Mass (g [0Z]) Dimensions Accessories
Configu-
Model Product "=2| End effector =3 | ration Sheel | B C | D | E F | G L ! J K
gt e .
Size |Count| Size [Count| Size [Count| Size |Count
2 | 8 | | | 5 | 13| 52 B type
KRJV-EPS-40-AFDPGS| 90[3.17] | 86(3.08] | @ | I |20 30 01071 10421 2o MEX10| 4 [Maxe| 2 3P| 2 |waxtz| 4
KRJV-EPS-40-AFDPG12 | 140 [4.94]| 200(705] | @ | I [2.%%8] [0_315] I - [0_2636] [0.13‘;1] [2_63%2] M5x10| 4 |M4x8| 2 B;}(’ge 2 |Maxt2| 4
KRJV-EPS-40-AFDPG14 170 [6.00]| 390 [13.76] | @ | I [2%%3] [0_3?15] - - [0.§15] [0.16630] [2_‘;%8] M5x10| 4 |Msx10| 2 B;i’ge 2 |Maxi4| 4
KRJV-EPS-40-AFDPGL8| 80 [2.82]| 135[4.76] | @ | T [3@1] [0_315] [1_224] S o o - |msxto] 4 |msxie| 2 2‘53’559 2| -
KRJV-EPS-40-AFDPGL12|100 [3.53] 330[1164] | ® | T [35;%0] o 3815] [1224] S oo - |msxto] 4 |maxeo| 2 B;i’ge 2 | -
6 | 8 | 66 | | 8 | 16 | 92 B type
KRIV-EPS-40-AFDPGL14|220 [776]| 570 [20.11] | @ | T |, 20000 &ic g 05151 06801 3. oz MF<10| 4 |Moxtd| 2 PR 2 waxta| 4
KRJV-EPS-40-NHE1D20 |170 [6.00]| 306[10.79] | @ | I [2%%8] [0_3815] A [03815] [0.23?301 [2_238] M5x10| 4 |M3xd0| 3 B;}(’ge 1 |Max1a| 3
KRJV-EPS-40-NHE1D25 | 75 [2.65] | 580[20.46] | @ | I [22%2] " 315] o o -] - msxtol 4 |Maxas| 3 B;}(’ge 1] -
@ Compliance light
Mass (g [0z]) Dimensions Accessories
Configu-
Model Product 2| End effector 3| ration Shape A B © D E F G H ! J K
Size |Count| Size |Count| Size [Count| Size |Count
KRJV-EPS-40-CPL54F |105[3.70]| 130[4.59] | @ | I [22%5] [0,?15] Sl -l - -] - |Msxio| 4 |msx12| 4 B“‘de 1] -
KRJV-EPS-40-CPL70F |170[6.00]| 250(8.82] | @ | I [3_%222] [0_315] o o - - msxtol 4 |msxi2| 4 B;}(’ge 1] -
@ Auto hand changer
Mass (g [0Z]) Dimensions Accessories
Configu-
Model Product ¢2| End effector 3| ration Shape A B © D E F G H ! J K
Size |Count| Size |Count| Size [Count| Size |Count
KRJV-EPS-40-MJC3 | 50[176]| 65[2.29] | @ | m [2.%317] [0_;5] ; [0?7%7] | - | - |msxio| 4 |Mm3x20| 4 thi’ge 1] -
KRJV-EPS-40-MJC10 |75[2.65] 235[8.29] | ® | I [2_51‘;6] [0_‘3%4] Sl -l - - | - |msxi2| 4 |msx30| 4 B;}(’ge 1] -
@Electric hand
Mass (g [0Z]) 8 Dimensions 8 Accessories
Configu-
Model Product ¢2| End effector Ne¢| ration Shape A B © D E F G H ! J K
Size |Count| Size [Count| Size [Count| Size |Count
KRJV-EPS-40-EWHA12H | 125 [4.41]] 290[10.23] | ® | I [39;%0] [03?15] Sl -l - - | - |msxio| 4 |m3xie| 4 thzge 2| -
KRJV-EPS-40-EWHA24H | 125 [4.41]| 350[12.35] | @ | I [3?‘;0] [0:?15] Sl -l - -] - |msxio| 4 |m3xie| 4 B;}(’ge 2| -
KRJV-EPS-40-EWHA36H | 125 [4.41]| 360[12.70] | @ | I [3‘:‘;0] [0315] Sl o o] - | - |msxto| 4 |m3xie| 4 thj('ge 2 | -
KRJV-EPS-40-EWHA12A | 70 [2.47] | 170[6.00] | @ | I [252883] 0 315] - - - - - |MBx10| 4 |M3x12| 4 thi’ge 2| -
KRJV-EPS-40-EWHA24A | 105 [3.70]| 260[9.17] | @ | I [2?35] o 3815] Sl o o - - msxtol 4 |m3xi2| 4 thi’ge 2 | -
KRJV-EPS-40-EWHA36A | 105 [3.70]| 260[9.17] | @ | I [2?35] [03815] o o - - msxto] 4 |m3xi2| 4 thi’ge 2 | -
KRJV-EPS-40-EW2H8 |70([2.47] 90[3.17] | ® | I [252%3] [0;5] Sl -l - - | - |msxio| 4 |m3xig| 4 thi’ge 2| -
KRJV-EPS-40-EW2H18 |105 [3.70]| 160(5.64] | @ | I [22235] [0:?15] o o -] - msxtol 4 |maxig| 4 B;}(’ge 2 | -
KRJV-EPS-40-EW2H28 | 145 [5.11]| 360[12.70] | @ | I [3%%6] [0315] S o o] - | - |Msxto| 4 |Maxes| 4 B;de 2 | -
KRJV-EPS-40-EW2HL8 | 70 [2.47] | 140[4.94] | @ | I [2_52883] [0_515] - - - - - |MBx10| 4 |M3x18| 4 thi’ge 2| -
KRJV-EPS-40-EW2HL18|105[3.70]] 250[8.82] | @ | I [2?35] [0315] - - - - - |MBx10| 4 |M4x18| 4 B3t>3</ge 2| -
KRJV-EPS-40-EW2HL28| 145 [5.11]| 480[16.93] | @ | I [3%%5] [0??15] <ol -] - st 4 |maxes| 4 (BRI |

Note 1: In the drawings, the (%) bolts and pins are accessories.
2: The product weight includes the weight of the bolts and parallel pins that are accessories.
3: The end effectors are not included with these products. They must be ordered separately.

KOGRANEI 29



@ KOGANEI



KOGRANEI 26



[

Limited Warranty

\

\_

KOGANEI CORP. warrants its products to be free from defects
in material and workmanship subject to the following provisions.

Koganei
Responsibility

will replace any part proved defective under

Warranty Period The warranty period is 180 days from the date

of delivery. @ This warranty shall be void if the engineered safety devices
are removed, made inoperative or not periodically checked for
If a defect in material or workmanship is found proper functioning.

during the warranty period, KOGANEI CORP.

service necessary to replace such a part.

@ KOGANEI CORP. shall in no way be liable or responsible for
injuries or damage to persons or property arising out of the
use or operation of the manufacturer’s product.

@ Any operation beyond the rated capacity, any improper use or
normal use free of charge and will provide the application, or any improper installation of the product, or any
substitution upon it with parts not furnished or approved by
KOGANEI CORP., shall void this warranty.

Limitations @ This warranty is in lieu of all other warranties,

expressed or implied, and is limited to the @ This warranty covers only such items supplied by KOGANEI
original cost of the product and shall not CORP. The products of other manufacturers are covered only by
include any transportation fee, the cost of such warranties made by those original manufacturers, even
installation or any liability for direct, indirect though such items may have been included as the components.
or consequential damage or delay resulting
from the defects. The specifications are subject to change without notice.

[ URL: http:/www.koganeiusa.com J

[ E-mail: sales@koganeiusa.com J

%

KOGANEI

12/'22 AB

KOGANEI CORPORATION

OVERSEAS DEPARTMENT
3-11-28, Midori-cho, Koganei City, Tokyo 184-8533, Japan
Tel: 81-42-383-7271  Fax: 81-42-383-7276

KOGANEI INTERNATIONAL AMERICA, INC.
48860 Milmont Drive, Suite 108C, Fremont, California 94538
Tel : 1-510-744-1626  Fax : 1-510-744-1676

SHANGHAI KOGANEI INTERNATIONAL TRADING CORPORATION
Room 2606-2607, Tongda Venture Building No.1, Lane 600, Tianshan Road,
Shanghai, 200051, China

Tel: 86-21-6145-7313  Fax: 86-21-6145-7323

TAIWAN KOGANEI TRADING CO., LTD.

Rm. 2, 13F, No88, Sec. 2, Zhongxiao E. Rd., Zhongzheng Dist., Taipei City 100,
Taiwan (ROC)

Tel: 886-2-2393-2717  Fax: 886-2-2393-2719

KOGANEI KOREA CO., LTD.

6F-601, Tower Bldg., 1005, Yeongdeo-dong, Giheung-gu, Yongin-si, Gyeonggi-do,
446-908, Korea

Tel: 82-31-246-0414  Fax: 82-31-246-0415

KOGANEI (THAILAND) CO., LTD.

3300/90, Tower B, Elephant Tower,16th Fl., Phaholyothin Road, Chomphon,
Chatuchak, Bangkok 10900, Thailand

Tel: 66-2-937-4250 Fax: 66-2-937-4254

KOGANEI AUTOMATION (MALAYSIA) SDN.BHD.

Suite 29-2, Level 29, Menara 1MK, No.1, Jalan Kiara, Mont Kiara
50480, Kuala Lumpur, Malaysia

Tel: 60-12-537-7086

KOGANEI ASIA PTE. LTD.
69 Ubi Road 1, #05-18 Oxley Bizhub, Singapore 408731
Tel: 65-6293-4512  Fax: 65-6293-4513

©KOGANEI CORP.



	KRJ Series - Robot Joint for Epson
	Compatibility
	Order Codes
	Robot Type : SCARA
	Robot Type: Vertical Articulated

	Dimensions
	Robot Type: SCARA
	Robot Type: Vertical Articulated

	Handling Instructions and Precautions

